%G | @ Gt (Rov909109) | ZEE | SRR | AR ger | wfq | i [t o] emer | eawmw | oemdl Rl | wedw | W gedademd | ogfew | s | erewr | s

1 |@r wmrh
= (0 foen) CIEy ELES R00 500 Q4RY %40 9%0 R00 Q40 30 940 4 ]Rq0 990 30 9% 9430
= (Y, fepel) EIRY %34 9¥00 | ¥9{0 | 35’3 | 9500 140 R00 ¥00 RS %40 q&40 Q430 Q3L | RR%0 ¥¥0 Q3R
= (30 o) a7 | ¥%o ]R30 9500 1¥0 R00 IR0 iLS 50 0 ¥00 ]R30 %40 300 340 <% %0¥9
Har (1o faein) | qud G4 R40 R0 4000 0 0 0 0 4 92 40 0 0 0 1495
T (R0 feFe) | quy o ¥30 qy0 ¥50 o R0 5 o 30 o o 0 o 0 933
TEeR 3T (Ko faa EiEy 9 o o o o o q0 o o o o EM o o o YR
wgeR frar (R0 fepen) EIR o o 950 o o o %0 o o o o o o o o 330
TR e (4 o) orke|  quo o 90 o 40 o o o o o o « o o o Y5y
wgepr frar (3 feren) T o o o o 5o o o o o o o q0 0 0 0 20
HIET = 30 9% o q0134, o o o o o qIRY, o o o o o Y 9I%
AT ol Y o o o o o o o o R o o o o o ©
e (Lo feen) EiEy o 9y 50 <9 ¥00 o Q40 q0 o q¥0 G Y0 3R o o R00%
o (R0 faBa) g | go0 9%0 939% R5Y 40 %0 940 904 o Q00 RES RESES q%0 3% 29 1259
(K feper %0 o 400 o o o 400 9y 950 o o o o o o 39y,
Eiaeil gt o o Q00 o o o o 3e) SEY o o o o o o 99¥Y
AR (4 foFell) e | ¥y, o o i =0 o o o o R4 R4 q00 40 o it 24
a1 (Lo feran) Eiry o o 20 ¥ o qy0 o o o o o o T Yy Yy 34X
T (R0 feper) Giry 0 0 0 o o qy0 o o Y0 o) o) o 30 93y 994 %90

R |g=eT
X AT (Y, fen) | 920 0 XY (38 90 0 R00 LS 0 0 0 40 q00 RR0 0 q0%%
A T (Y feban) EIE o o 0 o 5o o 90 3 o o o W Yo %5 ) B
T & (Y, o) Eiry o o YR o Y0 o IS o o o o o Y o o q0Y,
HreRT & (Y, fered) EIR o o 9z o %0 o Y o o o o o Q 20 o 4R
AT AT (Y Fepan) CIE ) ) ) o 95 o Y o o o o o o o o e
Ereic) cal %Y o 9 oR o o o o oR o o o oIRY, o o QIRY
Bl &9 (Y fbedn) CIRY o o 93¢ o 9% o o o 9% Y q 9% oY o o JRIRY
AT HUI (Y Teedn) a1 39 o o o 3 o o o o o o o o Q o 1%
=1 (Y, fepen) T 3 o 9y o ¥3Y o Y Y Y R o ) o] 993 ) ©_3
= (30 fepen) & o o 930 0 0 0 Y 0 o) o) o) o o o o 934
LI ERGAl

grates ae Qo faen FEA | 390 %00 400 ¥ qoY40 o Y30 ¥0 o 250 95 900 % o o 322y
FARAER q (90 feTa®) weT | 90 900 ¥00 o 900 o ¥00 q0 o 990 9o ¥y 3 o o ¥0ug




arér ae (o feex)

%0 950 o 300 o o Q0 3 300 9 500
¥ | SATETT
g2l (Y fepen) kLS KL q¥00 Q9 900 20 300 310 3 o 0 R’R0
=T (YO fope) qo00 o o o o o % o o o o q0%
AT AT (Y, FepedD) o o 200 o o o g o o o o 2 0%
Y |emr T RO Y0 800 0 430 0 4 0 R0 40 10 R0
fear T R 0 *R0 0 940 0 0 R4 iLS 0 40 o3

AT Jedfad WsaTd HeT 9 aaT FeaTahl AT Y&qa I |




